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Note : (i)

(ii)

(iii)

(v)
v)

(vi)
(vii)
(viii)

(8)
(English Version)
You must write the subject-code/paper-code  04/C in the box provided on the tiil
page of vour answer-book.
Make sure that the answer-book contains 26 pages (including ritle page) and ar

properly serialed as soon as you receive it.

Question/s attempted afier leaving blank page/s in the answer-book would not b.
evaluated.

All questions are compulsory.

In question on construction, make drawing neatly and exactly as per giver
measurements using geometrical instruments.

Use of calculator is not allowed.
Log tables can be had from the Centre Superintendent.

Question No. 1 each part is of 1 mark each, 2 to 8 are of 2 marks each, 9 to 15 are o)
3 marks each and 16 to 17 are of 5 marks each. Out of these there is internal choice i
Question Number 5, 6, 7, 11, 14, 15, 16 and 17.

Part-A
This part has questions of 1-1 mark.
1. (1) Forwhich value of p does the pair of equation given below has unique solution
4x+2y+1=0
3px-3y+4=0 1
(ii) ForAP: —5,-1,3,7. ......... write first term ‘a’ and common difference *d’. 1
(iii) Write the definition of Pythagoras theorem. 1
(iv) Fill in the blank : /
sec’O—........... =1 1
(v) Find the surface area of sphere whose radius is 3 cm. i
Part-B
This part has questions of 2-2 marks.
2.  FindH.C.F.andL.C.M.0f26and91. 2
3. Findthe Zeroes ofthe quadratic polynomial 4 x>+ 8 x. 2
4.  Findthe nature of the roots of Quadratic equation2 x*—6x+3=0. 2
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12.

10.

11.

(9) .
For AP:21,18,15,........ check whichtermis —27°? 2
or
Find the sum of 12 terms of the AP: —37,—33,—29, -....... 2
Prove that the length of a tangent draWn from an external point to a circle are equal. 2
or

The length of tangent from point T at distance 10 cm from the centre of the circle is 6 cm. Find

the radius of the circle. 2

Draw aline segment of length 7 cm and divide it in the ratio 2:3. 2
or

Draw a pair of tangents to a circle of radius 5 cm which are inclined to each other at 60°. 2

One card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting
(1) akingofred colour

(ii) the queenofdiamonds. . 2
Part—C

This part has questions of 3-3 marks.

Solve by cross multiplication method of the following linear equation :

8x+5y=9

3x+2y=4 3
Find the ratio in which the line segment joining the points (- 3, 10) and (6, — 8) is divided
by (-1,6) 3
Provethat:

cotA—tcosA_ cosecA—-1 .
cot A+cosA cosec A+1

or
Provethat:

JM:cosecA+cotA;A<9O° 3
I-cosA

The angle of elevation of the top of atower from a point on the ground which is 30 m away from

the foot of the tower is 30°. Find the height of the tower. 3
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13. Inthe figure given below a quadrilateral PQRS is drawn to circumscribe a circle.

Provethat : PQ+RS=PS+QR

S ¢ R
D-K . B ’
P /;\ Q

14. I.n acircle ofradius 14 cm, an arc subtends an angle of 60° at the centre. Find
(i) Thelengthofthe arc

(ii) Areaofsector. ' 3

or

In the figure given below find the area of the shaded region where a circular arc of radius 5 cm

has been drawn with vertex O of an equilateral triangle OAB of side 10 cm as centre.

A ”/’10 cm B

13. A class teacher has the following absentee records of 40 students of a class for the whole term.

Find the mean number of days a student is absent :

No. ofdays 0-616-12112-18]18-24124-30130-36 |36-42
No.ofStudents | 11 10 7 4 4 3 1

or

The following data gives the information on the observed life times (in hours) 0f 225 electrical

components :

‘Lifetime(inhours) 0-20|20-40 | 40-60 | 60-80 | 80-100 |100-120
Frequency 10 35 52 61 38 29

Determine the mode life time of the components. 3
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16.

17.

(11)
Part-D

This part has questions of 5-5 marks.

In a triangle if square of one side is equal to the sum of the squares of the other two sides, then

the angle opposite the first side is aright angle. 5
or

BL and CM are the medians of atriangle ABCrightangled at A
Provethat: 4 (BL* +CM®)=5 BC’ 5

A container shaped like a right circular cylinder having diameter 12 cm and height 15 ¢m is
full of Ice cream. The Ice cream is to be filled into cones of height 12 cm and diameter 6 cm
having hemispherical shape on the top. Find the number of such cones which can be filled
with Ice cream. | 5

or

A solid Iron pole consists of a cylinder of height 220 cm and base diameter 24 cm which is
surmounted by another cylinder of height 60 cm and radius 8 cm. Find the mass of the pole,

giventhat 1 cm® of Iron has 8 gmmass. (Use nt = 3.14) 5
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